11.2) Integrating f(ax + b)



Worked example Your turn
Find: Find:
j(6x + 1)? dx j(Bx — 4)° dx
L (3x +4)° + ¢
18
j(Sx —2)3 dx

j(4x + 3)* dx




Worked example Your turn

Find: Find:

1 1
J2(3x—4)4 * j3(4x—2)2dx

1
- +
12(4x —2) ' ¢

L 4
f4(2—3x)3 *




Worked example Your turn
Find: Find:
j(3x —1)? f(Zx +1)2
1

E(Zx +1)3+c
j(Bx—l)dx j(2x+1)dx

x>’ +x+c

B =

3x— 1% X+ 1

1 d
j(Bx— 1)z

1
Eln|2x+1| +c

1
J Zx+ 12
1

C

- +
2Q2x + 1)



Worked example Your turn

Find: Find:

jsin(6x + 1) dx j—sin (%x — 4) dx
1
3COS(§X—4>+C

j—sin(g—Z) dx

fsin(B — 4x) dx




Worked example

Your turn

Find:
jcos(6x + 1) dx

j—cos(g—Z) dx

fcos(B — 4x) dx

Find:

j— cos(4 — 3x) dx

1
§Sin(4 —3x)+c



Worked example Your turn
Find: Find:
X X
6x —1 —%x + 4
1
—31n —§x+4‘ +c
X
%x+2




Worked example Your turn

Find: Find:
Jsecz(Zx —3) dx fBSecz(Zx + 1) dx

3
Etan(Zx +1)+c

j6sec2(5 — 4x) dx




Worked example Your turn

Find: Find:
jsec 5x tan 5x dx jsec(Bx) tan(3x) dx

1
3 sec(3x) + ¢

f X tan~d
SeC4an4 X




Worked example

Your turn

Find:
fe6x+1 dx

Find:



Worked example Your turn

Find: Find:
j(ex — 1)3dx f(ex + 1) dx

1,
zex+26x+x+C




